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Reg. No. : .................................

Name :

K16u 2115

Thir.l Semester B.SC./B.C.A. Degree (CBCSS - Reg./Supple./lmp.)
Examination, November 2016

(2014 Admn. Onwards)
COMPLEMENTARY COURSE IN MATHEIIIATICS FOR B.C.A.

3c03 IrAT-BCA : lMathemaiics for BCA - lll

SECT]ON A

Allthe firsl4 questions are compulsory. Theycarry 1 markeach

' Sol/".y " .'e

2. Find the ge neral solulion oi y' y=0.

3. F nd ihe Lapace transform ol12 21.

4 Findihe relaiion between a and b lu(x, t)= eax+br is a solution tothe
PDE q = uii. (ax1=a)

SECTION B

Answer any 7 questions from among llre quesiions 5lo 13 These qlestions carry

5. Solve : y'+ ytanx = cos3 x.

6. Showllralihe equation, (1 + 4xy + 2y'?)dx + (l + 4xy + 2x2)dy = O is exacl and

7. F nclihe orlhogona! tEjeclor es olthe larnlly oicurves, x2 v2=c

L Fi.d rh€ so uiion to the lnil al value problem, 2y" +y'+y = 0, y(l)=0, y1l)= 1
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12. Solveihe equation Lrr = I subjecltothe initiat condirion u(0, y)= y

9. Using Laplace translorrn, sotve the tollowtng inilialvatue problern.

y' y = t, y(0) = 1, y'(01= 1

3s -1
I 0 F nd the lnverce rranstorrn ot G-l (J + 1)

1r F ndihelirstorderPDE, byelinr nalingthe arbirrary constanls a and b, saiisUed
by u wher€ u(x y)= ax + by.

l3 Showlhal u(x, y)= e_v f(x y) ls the general sotuiion oi !r + uy + u - O {7x2:14)

SECTION _C

Answerany4 q!est ons trorn among the q!eslions 14 to 19. These qu€siions carry

r4. Sove lhe iniliarvalue probern: y y=2xer',y(r)=O

15 Solve : y' 3y' I 2y - sin3x.

1 6 Solve lhe fol owing initial va ue probteri by rhe merhoct ot undeleffiined coeflicienls.

y":y = 0 001x'?, Y(0)= 0, y10)=15

Deducerhar l - 1.1 f, =r3574
l9 F.ldrnelyoe.r'd.rlor.rronorld tof anosoivF:u,, r9u.) 0

'/. L\'oldpdcer,ar\rorn).,o\a.\ lr l\rr\cin/r _'o co)l

18 FndlheFourerseresolthe2n period c function I detined by

r,^) Ik r"'0
lr rr0 . r

(4x3=12)
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SECTION D

Answer any 2 questions frorn among the quesiions 20 to 23. Tlrese quesuons carry

20. F nd an inlegrating laclor and sove, (x y)dx - dy = 0, y(0) = 2

2_. So!e ) -y ,drx bv\d'dlo oloadmeerc

22. Applying Lapacetranslom, solvethelo ow ngsyslern:

y\- - 4y1 2yz+t Yr(0)=575,

yi =3yr +y, I Yr(0)=-6.75.

23. F nd:

d) rhe ToL e ^o'ine.eri.sa'd

b) ihe Fouriersine ser es ol the iunciion, t(x)=n-x; 0<x<r (2t5=10)


